Instruction: Answer all questions and show your working in the space provided.
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9 Mia hires a bike.
The hire cost is $2.50 for each hour.

(a) Work out the cost of hiring the bike for 7 hours.
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Write down the name of this shape.
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13 A cuboid has length 4 cm, width 5 cm and height 30 mm.
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23 These are the heights, in centimetres, of 6 plants

28 27 24 25 11 23

The mean height is 23 em
The plant with height 11cm is removed.
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(a) Find how many more millimetres of rainfall there was in London than in Barcelona in
January.

- mm [1]
() Tick () all the correct statements
London had more rainfall than Barcelona in 7 of the months.
Barcelona’s highest monthly rainfall was in November.
There were 2 months when the rainfall was the same in both cities.
The lowest monthly rainfall for both cities was in July
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Pierre wants to cover the floor with square files.
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%

Show that he s correct.

7

100%
2037

Q Type here to search dx NG o B2




image19.png
[ = | (E) USB Drive = X
] 5‘ B Mathematics Stage 752 X \@ Mathematics Stage 7 Sampl | + = @ % |2
»

< > O @ @ | filey///E:/New%20folder/maths3%20checkpoint/scheme%20and%20progress%20test/Mathematics%20Stage%207%20Sample%20Papers201_tem14 ¥ ¥= L.

Pierre wants to cover the floor with square files.
Each tile has side length 50cm

Pierre says that he will need more than 100 tiles to cover the floor.

Show that he s correct.
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17 The graph shows the amounts, in dollars, Oliver and Naomi spend on fuel each month.
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this month is $ (8]

(b) Wite the fraction of these months when the total amount Naomi and Oliver spend is
‘more than $160
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() Find the amount Naomi spends in January as a percentage of the amount Oliver spends
in January.
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